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#hw2 gl skl slm.py
def slm(xlist, ylist):
#develop your function here...
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xstr = input ()
ystr = input()
xall = xstr.split(',")
yall = ystr.split(',")

outl = slm(xall, yall)

if (outl == None):
print ("DATA ERROR")
else:
print ("%0.6f" % outl[0])
print("%0.6f" % outl[1])
print("%0.6f" % outl[2])
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def gen_random(problist, runif):
#develop your function here.

prob = input()
ru = float(input())

prob = prob.split(',")
for i in range(len(prob)):
prob[i] = float(prob[i])

outl = gen_random(prob, ru)
if(outl == None):
print("DATA_ERROR")
else:
print(outl)
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